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2013-04-22 | XIFAE =32 el N OO0 [HINE=dz =¥ 30,000
2013-04-22 | XIFAE =32 el N OO0 [HINE=Z=dz =¥ 100,000
2013-04-22 | XIFAE =32 el N OO0 [HINE=Z=dz =¥ 100,000
2013-04-23 | XIHAE SRS el N OO0 [HINE=Z=d= =¥ 100,000
2013-04-23 | XIHAE SRS el N OO0 [HINE=Z=dz =¥ 100,000
2013-04-23 | XIHAE SRS el N OO0 [HINE=Z=dz =¥ 50,000
2013-04-23 | XIHAE SRS el N OO0 [HINE=Z=dz =¥ 50,000
2013-04-25 | XIHAE SRS el N OO0 [HINE=Z=dz =¥ 20,000
NG BRASE ol N2z =
2013-04-26 | XN FAS =333 el N 00O (2994 1) 50,000
-04- SN = el N 000 pe=sss =2 50,000
2013-04-26 | XN FAS =333 el (SoiH 1) ,
2013-04-26 | XNFAIS =333 el N 00O |HIXE=d= =¥ 30,000
2013-04-29 | XNIFAls =333 el N OO0 |HXE=3=Z =¥ 100,000
2013-04-29 | XN FAls =333 el N OO0 |HXE=3=Z =¥ 50,000
NG FRASE ol ANE=dz =
2013-04-29 | XN FAls =333 el N 00O (2994 1) 50,000
B TEsd2 =9
2013-04-29 | XIFAls =333 el N 00O (R3S K ACHT]2) 100,000
2013-04-29 | XIFAls =333 el N OO0 |HXE=3Z =¥ 20,000
2013-04-30 | XIFAlS =333 el N OO0 |HXE=3Z =¥ 10,000
2013-04-30 | XIFAlS =333 el N OO0 |HXE=3Z =¥ 10,000
2013-05-01 | XIFAls =333 el N OO0 |HXE=3Z =¥ 10,000
2013-05-01 | XIFAls =333 el N OO0 |HXE=3Z =¥ 100,000
2013-05-01 | XN ZAls =JA33 el N OQO |HIX&E=&d=z =¥ 10,000
2013-05-01 | XIZFAls =JA33 el N OQO |HIX&E=&d=z =¥ 10,000
2013-05-06 | XNIFAlS =A33 el N OQO |HIX&E=&d=z =¥ 10,000
2013-05-06 | XNIFAlS =A33 el N OO0 |HXNE=AZ =¥ 30,000
2013-05-07 | KNG Als =333 el N OO0 |HXE=AZ =¥ 20,000
2013-05-09 | XIZ Atz 2SS el N OO0 |HIXNE=AZ =¥ 20,000
2013-05-10 | XIZ Atz 2&=S el N OO0 |HXE=AZ = 30,000




2013-05-15 | Meiars =a2E | el N 000 |HN=EZa2 &+ 10,000
2013-05-20 | Meias =a2E | JHel N 000 |HN=EZaS &+ 30,000
2013-05-23 | Meias =a2E | el N 000 |HN=EZaS &+ 10,000
— TEsd= =220
2013-05-24 | Meias =a2E | JHel N 000 |7 a) 50,000
— NSsd= Fg(=90
2013-05-24 | Meias =a2E | JHel N 000 |7 a) 50,000
. NS=T=Z F5(=30
2013-05-26 | TMeiats =a2E | JHel N 000 |7 a) 50,000
2013-05-27 | Meias =a2E | el N 000 |HN=EZE2 30,000
2013-05-27 | Meias =a2E | el N 000 |HINEzaS 2 20,000
2013-05-27 | Meias =a2E | el N 000 |HINEZaS 2 20,000
2013-05-28 | Meias =a2E | ol N 000 |HINEZaS 2 20,000
— TEEd=2 (I8 8
2013-05-28 | KIZAlsl =333 Hel N 00O EACHT] ) 100,000
2013-05-28 | KIZAlsl =333 Hel N OO0 |HXE=Zzds =¥ 100,000
2013-05-30 | XY Atsl =333 Hel N OO0 |HXE=Zzds =¥ 10,000
2013-05-31 NSGAe 2|23 Hel N OO0 |HXE=Zzds =¥ 10,000
2013-06-04 | XIZAlsl =333 Hel N OO0 |HXE=3Z =¥ 20,000
2013-06-05 | XY Atsl =333 Hel N OO0 |HNE=Zzd=z =¥ 10,000
2013-06-06 | K Atsl =33 Hel N OO0 |HNE=Zzd=z =¥ 100,000
2013-06-10 | K Atsl =333 Hel N OO0 |HXE=d=a =¥ 50,000
2013-06-10 | K Atsl =333 Hel N OO0 |HXE=d=a =¥ 30,000
2013-06-10 | K Atsl =333 Hel N OO0 |HXE=Zzd=z =¥ 20,000
2013-06-13 | XY Atsl =333 Hel N OO0 |HXE=Z=d=a =¥ 10,000
2013-06-17 | K Atsl =333 Hel N OO0 |HXE=Z=d=a =¥ 10,000
2013-06-17 | K Atsl =333 Hel N OO0 |HXE=Z=d=a =¥ 10,000
2013-06-17 | K Atsl =333 Hel N OO0 |HXE=Z=Rda =¥ 10,000
2013-06-18 | XY Atsl =33 Hel N OO0 |HXE=Z=Rd=z =¥ 30,000
2013-06-20 | KIGAtsl =333 Hel N OO0 |HXNE=Z=dz =¥ 30,000
2013-06-25 | K Atsl =333 Hel N OO0 |HXNE=Z=dz =¥ 20,000
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2013-07-18 | XAtal 2R2E | Ohel N 000 |HXNZEA3 +¢ 100,000
2013-07-22 | MAtsl 2RBE | Ohel N 000 |HXNZEA3 +¢ 100,000
2013-07-23 | MAtsl 2R2E | Opel N 000 |HXNZEA3 +¢ 100,000
2013-07-23 | MAtsl 2R2E | Ohel N 000 [HxEERZ 2 100,000
2013-07-23 | MAtsl 2R2E | Ohel N 000 [HxEERZ 2 200,000
2013-07-24 | WAtsl 2R2E | Ohel N 000 |HXNZ2A2 +¢ 50,000
2013-07-25 | KAtsl 2RBE | Ohel N 000 [HxEERZ 2 20,000
- TEEE= +5(=30
2013-07-25 | KAtsl 2RBE | Ohel N 000 |34, 50,000
— NE=T=Z F5(=g0
2013-07-25 | KAtsl 2R2E | Ohel N 000 |32, 50,000
2013-07-26 | KAtsl 2R2E | Ohel N 000 [HxE=RZ 2 10,000
2013-07-26 | KAtsl 2R2E | Ohel N 000 |HXNZ2AS +¢ 30,000
2013-07-28 | KiAtsl 2R2E | Ohel N 000 |HXNZ2AS +¢ 10,000
_ TE=E= F5(=30
2013-07-28 | KiAtsl 2R2E | Ohel N 000 |32, 50,000
. NE=FZ =g(=30
2013-07-29 | MAtsl 2R2E | Ohel N 000 |32, 300,000
2013-07-29 | MAtsl 2R3E | JHel N 000 [HxE=RZ 29 100,000
2013-07-29 | XAl 2RI | He N 000 [HxE=a2 +¥ 20,000
oA =RBE NEEXEaESY
2013-07-29 | MAtsl 2R23E | JHel N 000 |/ mzmexacis) 100,000
2013-07-30 | XAtsl 2R3 | Jhel N 000 [HxE=RZ 29 10,000
I TE=E= F25(=30
2013-07-30 | MAtsl 2R3E | JHel N 000 |32, 150,000
POV P——— NEEZE=aESy
2013-07-30 | XIZiAE 2RIE | LIt N Y | 000 [\au gz 800,000
2013-07-31 | MAtsl 223 | JHel N 000 [HxE=RZ 29 10,000
2013-08-03 | KAtsl 2R3E | Kol N 000 [HxE=RZ 29 100,000
2013-08-05 | KAtsl 2R3 | JHel N 000 |HXZ2RS +¢ 30,000
2013-08-05 | KAtsl 2R3 | JHel N 000 [HxE=RZ 29 10,000
2013-08-09 | XAtsl 2R3 | JHel N 000 [HxE=RZ 29 20,000
2013-08-11 | MAtsl 223 | JHe N 000 [BxE=AZ +¢ 30,000
2013-08-12 | WAtsl 23 | JHe N 000 [BxE=AZ +¢ 30,000




2013-08-12 | XHAte 2333 JHel N OO0 |HIXd=d=s =¥ 20,000
2013-08-14 | XIFAtg =J=S | S2EA Y N OO0 [HXE=Es =Y 294,710
2013-08-16 | XIHAtEl =333 JHel N OO0 [HXE=Es =Y 10,000
2013-08-16 | XIHAtEl =333 JHel N OO0 [HXNE=Es =Y 10,000
2013-08-16 | XIHAtEl =333 JHel N OO0 [HXNE=Es =Y 10,000
2013-08-20 | RIHAEl =333 JHel N OO0 [HXNE=Es =Y 10,000
2013-08-22 | XIHAtel 2333 JHel N OO0 [HXNE=Es =Y 70,000
2013-08-22 | XIHAtel 2333 JHel N OO0 [HXNE=Es =Y 10,000
2013-08-22 [ NSGAtel =238 el N OO0 [HINE=&= =8 10,000
2013-08-23 [ NSGAtel =238 el N OO0 [HINE=&= =8 50,000
2013-08-26 | NISGAtel =238 el N OO0 [HNE=d=s =Y 20,000
2013-08-26 | NISGAtel =238 el N OO0 [HINE=d= =8 30,000
2013-08-28 | NS Alel =238 el N OO0 [HNE=d=s =Y 20,000
2013-08-28 | XSG Alel =238 el N OO0 [HINE=d= =8 10,000
2013-08-29 [ NSFAtel =333 el N OO0 [HINE=&= =8 100,000
2013-08-30 [ NG Atz =233 el N OO0 [HINE=&= =8 10,000
2013-09-02 [ XIGAlel =333 el N OO0 [HINE=&= =8 10,000
2013-09-04 [ X SFAtel =233 el N OO0 [HINE=&= =8 100,000
2013-09-04 [ X SFAtel =233 el N OO0 [HINE=&= =8 20,000
2013-09-05 [ XISFAlel =333 el N OO0 [HINE=&= =8 10,000
2013-09-09 [ XIGAtel =338 el N 000 [HXE=d=s =Y 20,000
2013-09-09 [ XIFAtel =333 el N OO0 [HINE=d= =8 30,000
2013-09-10 [ XSG Atz =333 el N OO0 [HINE=d= =8 30,000
2013-09-10 [ XSG Atz =333 el N OO0 [HINE=d= =8 30,000
2013-09-13 [ NG Atz =333 el N OO0 [HINE=d= =8 10,000
2013-09-16 | XSG Atz =338 el N OO0 [BINE=8= =8 10,000
2013-09-16 | XSG Atz =338 el N OO0 [BINE=8= =8 10,000




213 | 2013-09-16 | X AMal SRS 3 JHel N OO0 [HXE=Es =Y 10,000
214 1 2013-09-25 | XIGAMtal SRS 3 JHel N OO0 |HIXd=d=s =¥ 20,000
215 | 2013-09-25 | XIGAMtal SRS 3 JHel N OO0 [HXE=Es =Y 50,000
216 | 2013-09-25 | XIGAMtal =33 JHel N OO0 [HXNE=Es =Y 10,000
217 | 2013-09-26 | XIGAMtal SRS 3 JHel N OO0 [HXNE=Es =Y 20,000
218 | 2013-09-26 | XIGAMtal SRS 3 JHel N OO0 [HXNE=Es =Y 30,000
219 | 2013-09-26 | XIGAMtal =SS JHel N OO0 [HXNE=Es =Y 10,000
220 | 2013-09-30 | KNG AMtal =33 JHel N OO0 [HXNE=Es =Y 10,000
2211 2013-09-30 | XAt SRS 3 el N OO0 [HINE=&= =8 10,000
222 | 2013-10-04 | XIG M3l SRS 3 el N OO0 [HINE=&= =8 100,000
223 | 2013-10-07 | XIG A3l =R]3S 3 el N OO0 [HINE=d= =8 10,000
224 | 2013-10-08 | XIGAtal = R3S 3 el N OO0 [HNE=d=s =Y 20,000
225 | 2013-10-15 | XIGAM3l =R]3S 3 el N OO0 [HINE=d= =8 10,000
226 | 2013-10-17 | XSG AM3l SRS 3 el N OO0 [HINE=d= =8 30,000
227 | 2013-10-21 | X ME =ESS el N OO0 [HINE=&= =8 10,000
228 | 2013-10-25 | XISAMEl =ESS el N 000 [HNE=d= =Y 20,000
229 | 2013-10-28 | XIAMtE = ESS el N OO0 [HINE=&= =8 100,000
230 | 2013-10-28 | XAt =ESS el N OO0 [HINE=&= =8 30,000
2311 2013-10-29 | XIS AME =ESS el N OO0 [HINE=&= =8 100,000
232 | 2013-10-30 | XNIGAtsl SRASZ | QU2HEHA Y N OO0 [HINE=&= =8 168,338
233 | 2013-10-30 | X AMtal =ESS el N OO0 [HINE=d= =8 10,000
234 | 2013-10-31 | X9 AMa =ESS el N OO0 [HINE=d= =8 10,000
235 | 2013-11-01 | XIGAtE SRASZ | QU2HEHH N Y OO0 [(N&=zd=z =Y 1,000,000
236 | 2013-11-04 | XIGAMtal SESS el N OO0 [HXE=d=s =Y 20,000
237 | 2013-11-05 | XIGAMtal SESS el N OO0 [HINE=d= =8 10,000
238 | 2013-11-05 | XIGAtal S-S S el N OO0 [BINE=8= =8 100,000
239 | 2013-11-07 | XIGAMtEl SRS S el N OO0 [BINE=8= =8 100,000




240 | 2013-11-11 | XGM3 SRS 3 JHel N OO0 [HXE=Es =Y 20,000
241 | 2013-11-11 | XIGM3 SRS 3 JHel N OO0 [HXE=Es =Y 20,000
242 | 2013-11-12 | NG M3 =R]3S3 JHel N OO0 [HXE=Es =Y 10,000
243 | 2013-11-15 | XIGM3l =33 JHel N OO0 [HXNE=Es =Y 10,000
244 | 2013-11-15 | XIGM3l =33 JHel N OO0 [HXNE=Es =Y 10,000
245 | 2013-11-18 | X AMtal SRS 3 JHel N OO0 [HXNE=Es =Y 30,000
246 | 2013-11-20 | XAl =33 JHel N OO0 [HXNE=Es =Y 10,000
247 | 2013-11-25 | XIGAMtal SRS 3 JHel N OO0 [HXNE=Es =Y 10,000
248 | 2013-11-25 | X AM3l SRS 3 el N OO0 [HINE=&= =8 10,000
249 | 2013-11-25 | XIGAMal SRS 3 el N OO0 [HINE=&= =8 50,000
250 | 2013-11-25 | XAt = R3S el N OO0 [HINE=d= =8 20,000
251 | 2013-11-25 | XIGAMtal = R]3S 3 el N OO0 [HINE=d= =8 20,000
252 | 2013-11-26 | XNIGAMtal SRS 3 el N OO0 [HINE=d= =8 100,000
253 | 2013-11-26 | XNIGAMtal SRS 3 el N OO0 [HINE=d= =8 30,000
254 | 2013-12-02 | XIGAME S=ESS el N OO0 [HINE=&= =8 10,000
255 | 2013-12-02 | XIGAME S=ESS el N OO0 [HINE=&= =8 10,000
256 | 2013-12-03 | XAt = ESS el N 000 [HNE=d=s =Y 20,000
257 | 2013-12-04 | XIGAME S=ESS el N OO0 [HNE=d=s =Y 200,000
258 | 2013-12-05 | XAt = E-SS el N OO0 [HINE=&= =8 10,000
259 | 2013-12-09 | XAt S ESS el N OO0 [HNE=d=s =Y 20,000
260 | 2013-12-10 | X9 AME =ESS el N 000 [HXE=d=s =Y 20,000
261 | 2013-12-12 | X9AMa SESS el N OO0 [HINE=d= =8 10,000
262 | 2013-12-16 | NG AMa SESS el N OO0 [HINE=d= =8 10,000
263 | 2013-12-16 | XSG AMa SESS el N OO0 [HINE=d= =8 10,000
264 | 2013-12-18 | XAt SESS el N OO0 [HINE=d= =8 30,000
265 | 2013-12-20 | X9 Atal SRS S el N OO0 [BINE=8= =8 10,000
266 | 2013-12-25 | XI9Atal S3-SS el N OO0 [BINE=8= =8 300,000
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